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Vo/VT = 31, 8� nb/no = (2.5, 3.0 	 4.0) · 10−3 � ���������� ��
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 ����	 ���	 	����	 �M/m = 102� � 
	
���� ��	��� L/rd = 200!
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 ����	����� ����&� ���������!

 "#$%&�#'(" () �(*+ $*$�#%(" ,$&- .'#/ 0*&1-&�

234 .&5$1 &"+ -(+6*&#'("&* '"1#&,'*'#7� � 

���� ���������� !� "�#� $!%���

8,1#%&�#
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� ��������� ������ �������  ��!����� "#�����$���� %$���&
 ����' ( � ��#�)* �� ���!�&�(���+ ��,���� �(���� )�!�&��-�
%$���)��$��� ��#�-�* �, #� "!�#�����( ��!./�� �#������ ( �&�
��$����� ������!#��(���!.��� �!�0$� � ��&(�1��$� ����$�2 ���
���� �(!����� ���&�!1����$ ����� 34�567 ( #�����) ���!�&�(�!��.
��,���� �(���. �, #� �� �#�����.+ Vo/VT = 15.9 � �!������.+
%no

b/no ∼ (0.5 ÷ 30) · 10−2* ( �����$� &!���� L/rd = 100 34786 �!�
%no

b/no ∼ (0.05 ÷ 0, 5) · 10−2* ( �����$� � L/rd = 300 3562
� ������) 34�56 ��#�0���7  �� �, #�(�� ��,���� �(���. ���(��

&�� # ��0(���+ ����(��� (�!�� 9 -��$���#� � $�#��$�!.��$ ���
#��$����$2 :���$���� �, #� � �����$� (������ ��#7  ���� &!��
�� (�!�� "��� -��$���#� L/rd = 100 ��!� #����� &!��� �����$�;
L/λ = 1 ( ������) 34786 � L/λ = 3 ( ������ 3562

��!������� ���&�� �, #�(�� ��,���� �(���� ����&�!����� 0��
)(���$ "!�#�����( �, #� (�0�,1&�+����� (�!���2 <�#��$�!.���
�$�!��,&� (�!�� ,(�!� �(����� ��� ,(�!� ���� �!������� �, #�2
:�� $�!�) �!�������) �, #� � $�!�) �$�!��,&�) (�!��7 #�-&�
��� ����!!����� ��,���� �(����3=7>67 &�!.���/�� ��0(���� �, #��
(�� ��,���� �(���� ���(�&�� # ?��$���(���+ #(�0����'��������
(�!�� @A������347562 :�� ,(�!� ���� �!������� �, #� � �$�!��,�
&� (�!�� �����(���� �,����(����� ����!!����� ��,���� �(���.2
��0�,1&���� -��$���# ����!!���( ���(�&�� # $�&,!�'�� (�!��
� $�&,!�'������ ��,���� �(���� 387562 ��0(���� $�&,!�'������
��,���� �(���� ���(�&�� # 0��,)���+ (�!�� ( ��0,!.���� ��0(��
��� ��!.��� ���)���� ��#�� ��,���� �(���� &(�1���� "!�#�����(
�!�0$� 3B62 �&��#�7 ��!��-� 0��,)���� (�!�� �� �����)�&�� 9 ���
�!� ������  ���� "���-�� 0��,)���� ���#�������� �!� 0�$�&!�����
� ?��$��,���� #(�0����'�������� �!� $�&!���� 0��,)�+��� (�!�
�� @A� 387562

5



� ��������� ������ ���!�&,���� ��,���� �(���. �, #� � ��!.�
/�� �#�����.+ Vo/VT = 31.8 � �!������.+ no

b/no ∼ (0.25÷1) ·10−2 2
:�� ��#�� �#������ �, #� -��$���#� � $�#��$�!.��$ ��#��$���
��$ �$��� &!��, (�!�� λ/rd = 2007 ��#  �� ( �����$� &!����
λ/rd = 200 L/λ = 12 ���&���7  �� (� (��) �!, ��) %#��$� �!,�
 �� � no

b/no = 1 · 10−2* ����!!����� ��,���� �(���. �� ��0(�(��
���� � ��0(���� �, #�(�� ��,���� �(���� ���(�&�� # ?��$���(��
��+ (�!�� @A�2 :�� $�!�) �!�������) �, #� nb/no = 0, 25 · 10−2

(�!�� @A� �$��� #(�0����'�������� )���#���2 :�� ,(�!� ����
�!������� �, #� %no

b/no ≥ 0.3 · 10−2* � �$�!��,&� (�!�� @A� ����
��(���� ��,���� �(�� ��������!.�� $�&,!�'������ ��,���� �(��
��� � ( ���,���(�� $�&,!�'�� �� ����!!���(2 ���&�� ����- ��0�
(���� $�&,!�'������ ��,���� �(���� �� �$�!��,&� (�!�� @A�
9 E2/8πnoT ≥ 0.22 :�#�0���7  �� �#�����. ��0(���� $�&,!�'����
��� ��,���� �(���� ������ � �����$ �!������� �, #� � �$�!��,&�
?��$��,+����� (�!�� @A�2 ��# 1�7 #�# ( �!, ��) � ����!!�����
��,���� �(���.+ 387567 $�&,!�'������ ��,���� �(���. ���(�&�� #
�����, 0�� ���!.���  ���� "���-��2 :��!� "��-� ?��$��,���� #(��
0����'�������� �!� $�&!���� 0��,)�+��� (�!�� @A� � �$�!��,�
&��7 $��./�� ����-� (�0�,1&���� $�&,!�'������ ��,���� �(����2

���!����� "#�����$��� (���!������ $���&�$  ����'
( � ��#�)2 ����$����(����� �&��$����� �����$� &!����
L/rd = 200 � �����&� ��#�$� -���� ��$� ,�!�(��$�2 
!� "!�#�
�����( � ����( �!�0$� 0�&�C��� $�#�(�!!�(�#�� ������&�!���� �
Te/Ti = 307 M/m = 1027 ����0����� �� �#������ V ∼ ±2.8 VT �0�0�
�-���� �������  ��!� � ����)  ����' %N e ∼ 105 �� &!��� 100rd*2

D�&�C��� )�!�&��� %$���)��$��� ��#��* �, �# �� �#�����.+
Vo/VT = 31, 82 
!� "??�#��(��-� ,(�!� ����  ��!�  ����' �, �
#� ��� ��)������� ����/���� nb/no ���$������� $���& E(0(�/��
(����E2 E�0(�/�(����E"#(�(�!����� ��$,7  �� �&�� "!�#���� &���
����� �� α  ����' � $����� m/α � 0���&�$ e/α7 �� � ��$ 1� ����/��
���$ e/m #�# , "!�#�����7 ��#  �� &(�1���� "��)  ����' %��0�(�$
�) F�"!�#�����$�* �� ��!� ����� �� &(�1���� "!�#�����(2

=



�� �!.��� ����$���� �, #� ( ��0��) �!, ��) ���(�&��� (
���!�'�2

9�������� ����	���� ������

λ/rd = 200: Vo/VT = 31.8: Ne = 2.002 · 105: N b′ = 2 · 104�

������ �� ��! ��� ��" ��#

N b #�� ��� $��  ��� !���

no
b/no · 10−2 ��!# ���� ��"� ��#�  ��

W o
b /W o

e !�#�" ��  ! "� #� #� $%  ���%#

L � ����� ������&' Vo � ��
	
��( )����� Ne� N b� N b′ � ����
 *����	
�
�

)��
�&� *����	
�
� )���� � +�
��,���&-+.�*����	
�
� �� ����� /' no
b �

no � )�
��
��( *����	
�
� )���� � )��
�&' W o
b � W o

e � �����(���

*��	0�� *����	
�
� )���� � ��)�
��� *��	0�� *����	
�
� )��
�&�

�� (��) �!, ��) ( �� �!.��� $�$��� (��$��� 0�&����� 0�����
(� ��� !��-$+��(�#�� (�!�� $�!�� �$�!��,&� Eo/

mrd
eT 2

oe
= 1 � &!��

��� (�!�� L/rd = 2007 ��$���$ -��$���#� N = L/λ = 1 � ?�0�(��
�#�����.+ V/VT = 32.042

D�&����� 4GG ������)  ����' %e = m = 07 e/m �� 1�7  �� �
, "!�#�����*2 :���!�1�(����� 4H ����#����� ������)  ����' ��
?�0�(�� �!��#����2 D�&�+��� ��0��� ������&�!���� ������)  ��
���' �� �� �!.��$ #���&�����$ xo

N 7 V
o
N 7 (  ��������7 ��(��$�����

������&�!���� 4GG  ����' � V o
N = 0 ( �����(�!� x/rd ∼ 0 ÷ 2002

I�0�(�� �!��#���� ���(�&���� &!� ���� ��-� ������&�!����; 8G
 ����' � V o

N = 31.8VT = Vo7 ��(��$���� ������&�!����� ( �����(��
!� x/rd ∼ 40−120J �� =G  ����' �� �#������$� V o

N/VT = 2.84 %(��)�
��� -����'� �!�0$�* � V o

N/VT = −2.84 %��1��� -����'� �!�0$�*7
��(��$���� ������&�!����� �� xo

N ( �����(�!� x/rd ∼ 0 − 2002
:�&�������� �������(#� � ��������  ��!����-� "#�����$����

���(�&��� ( ������ 3462
��$���$7  �� ( ��#��� � �� ���,�#�) �����1������. ��!� E �

�$�!��,&� -��$���# EN ���$��,���� �� mrd/eT
2
oe2

������ ��0���� �� &(�  ����2 � ���(�� ����$����(�+��� �!, ��
5�47 5�8 � 5�57 (� (����� 9 �!, �� 5�=7 5�> � ���(�&���� ���(�����
(��) �!, ��(2

>



����$����$ �!, �� 5�47 5�8 � 5�52 � "��) �!, ��) 0�&�� �, �#
�� �#�����.+ Vo/VT = 31.8 � � �!������.+ no

b/no = 2, 5 · 10−3

%�!, �� 5�4*7 no
b/no = 3, 0 · 10−3 %�!, �� 5�8* � no

b/no = 4, 0 · 10−3

%�!, �� 5�5*2
���(��7 �����(�+��� �!, �� 5�47 ���(�&��� �� ���24�K7 �!,�

 �� 5�8 9 �� ���2H�4K7 �!, �� 5�5 9 �� ���24H�8K2 
!� #�1&�-� �!,�
 �� ��#�0��� 0�(���$���. �� (��$��� "���-�� "!�#��� ��#�-� ��!�
WE7 "���-�� "!�#�����( �!�0$� ∆We = We − W o

e %W o
e 9 ���!�(��

"���-�� "!�#�����( �!�0$�* � �����. "���-�� "!�#�����( �, #�
∆Wb = −(Wb − W o

b ) %���47H74H*J 0�(���$���. �� (��$��� �$�!��
�,&� EN ����(��� (�!�� Ne = 1 � -��$���# %���28757L74G74L78G*J
0�(���$���. �� (��$��� �$�!��,&� -��$���# �!������� ����( ñN

%���2=74=784*J ?�0�(�� �!��#���� "!�#�����( %���2>745785*J ?,�#�
'�� ������&�!���� "!�#�����( �!�0$� fe(V ) � �, #� %F�"!�#�����(*
fb(V ) �� �#������7 ���$���(����� �� �(�� $�#��$,$ fmax �!� $�#�
��$,$ �� �!.��� ?,�#'�� ������&�!���� fomax7 ( !������$ %���
B74=78=* � !�-���?$� ��#�$ %���24>78>* $��/����J ������&�!����
��!� E(x)7 (�0$,����� �!������� �!�0$� ñ(x) � (�0$,����� �!���
����� "!�#�����( �, #� %F�"!�#�����(* ñb(x) %���2K74B78B*2 ����
$� ��-�7 &!� �!, ��( 5�8 � 5�5 ��#�0��� 0�(���$���. �� (��$���
"���-�� ����( ∆Wi = Wi − W o

i %W o
i 9 ���!�(�� "���-�� ����(*

%���248788* � ?�0�(�� �!��#���� ����( %���24K78K*2
:� #��(�$ W (t) %���247H74H* � EN (t) %���287L74L* (�&��7  ��

�� �!.��� ���&�� �, #�(�� ��,���� �(���� ( �!, ��) 5�47 5�87 5�5
�$��� ��� 1� )���#���7  �� � ( �!, ��)7 ����$�������) ( �����
��) 34�562 
����(���!.��7 �� #��(�$ EN (t) %���287L74L* (�&��7  ��
� ��$�-� �� �!� (�&�!����� -��$���#� Ne = 1 � &!���� (�!��
L/rd = 2007 �$�+��� $�#��$�!.��� ��#��$���2 �$�!��,&� (�!�
�� Ne = 1 ���)�&��  ���0 $�#��$,$ E = EI

max ( t = tImax7 � &�!��
��'�!��,�� � �����&�$ T/Toe ∼ 6 − 77 ����(����(,+��$ �����&,

������� 0�)(� ����)  ����' TB = 2π/k
√

eφ
m = 2λ/V�7 V� = 2

√
eφ
m 2

M�� ��#�0�(���7  �� ��!������� ���&�� �, #�(�� ��,���� �(����
����&�!����� 0�)(���$ "!�#�����( �, #�7  �� ��&�(��1&����� �
(�&�$ ?�0�(�) �!��#����� "!�#�����(2

B



� ������) 38756 ��!� ��#�0���7  �� �� ��!������� ���&�� �, #��
(�� ��,���� �(����7 �� ���� � t ≤ tmax7 (�0$�1�� ��0(���� ����!�
!����� ��,���� �(����7 ��!� �$�!��,&� (�!�� &������ �� (�!�#�
%V I

� /(V I
� − V N

� ) > 0.8*2 ����!!����� ��,���� �(���. ���(�&�� #
(�0�,1&���+ !��-$+��(�#�) (�!� � -��$���# Ne = 2, 3... � ?�0��
(�$� �#������$�7 �!�0#�$� # ?�0�(�� �#������ ����(��� (�!��2
�0 ���2574G78G (�&��7  �� ( ����$����(��$�) �!, ��) �� �� �!.���
���&�� %(#!+ �� t ≥ tmax* �$�!��,&� -��$���# Ne = 2, 3 �����$��
�� ��#� �� ������ ( ��!� �� �� �!, ��(7 ����$�������) ( ������)
387562 M�� ��#�0�(���7  �� ����!!����� ��,���� �(���. ( �!, ��)
5�47 5�87 5�5 �� ��0(�(�����2 ��$���$7  �� ���!+&�+����� ����!.�
/�� ���� �$�!��,&� -��$���# N = 2 � 3 %���25* ��,�!�(!�� -���
$���#�$� ��!� ��N�$��-� 0���&� 0�)(� ����) (�!��� Ne = 1 "!�#�
�����(2 M�� ��&�(��1&����� �&���#�(�� 0�(���$���.+ �� (��$���
�$�!��,&� -��$���# EN (t) � ����(��� (�!�� EI(t)2

� �!, �� 5�4 � no
b/no = 2, 5 · 10−3 ���(�� $�#��$,$ #��(��

EI(t) &����-��� ( tImax/Toe = 9.67 ��� "��$ EI
max = 29.4J V I

�max =

2
√

eφmax

m = 2
√

eEI
max
m

λ
2π = 9.74VT J TB = 2π/k

√
eφmax

m = 2λ/V I
�max =

6.5ToeJ "���-�� ��!� WE = 0.29W o
e = 0.11W o

b J "���-�� "!�#�����(
�!�0$� ∆We �!�0#� # WE 9 ∆We = 0.32W o

e = 0.12W o
b 7 � ������

"���-�� �, #� ∆Wb = −(Wb − W o
b ) = 0, 61W o

e = 0.23W o
b ��(��

�,$$� %WE + ∆We*2

�!.���/�� ��0(���� ��,���� �(���� ( �!, �� 5�47 ��# 1�7 #�#

( �!, �� 4�4 3467 ���(�&�� # ?��$���(���+ #(�0����'�������� (�!�
�� @A�2 
����(���!.��7 E��0$�/�(����E0�)(� ����) "!�#�����(
�, #� �� ?�0�(�� �!��#���� ( ��!���� 0�)(��� (�!�� Ne = 1 ����
(�&�� # ����0�(���+ )���#������ ���,#�,��7 ��)����+����� (
�� ���� &!���!.��-� (��$��� %���2>*2 :�� "��$ ���#�� ��#� ��
$������� (� (��$��� (�& ?,�#'�� ������&�!���� "!�#�����( �, �
#� �� �#������ fb(V ) %���2B*7 ������&�!���� �!������� "!�#�����(
�, #� ñb(x)7 � ��#1� ������&�!���� ��!� E(x) %���2K*2 :� #��(��
EI(t) %���28* (�&��7  �� ���&��� �$�!��,&� (�!�� Ne = 1 ��������
���#�� ��#� ���������� 9 ( t/Toe ∼ 200 − 500 EI

�� ∼ 18.3 − 17.47
� V I

� ��/VT ∼ 7.7 − 7.52 :�� "��$ #�!������ �$�!��,&� � �����

K



�&�$ T/Toe ∼ 6 − 7 ��)����+���2 <�#��$�!.��� �� �-���+���
EI(t) �$�!��,&� EI

mx ( t/Toe ∼ 200 − 500 $������� ��0�� ���!.��
EI

mx ∼ 22 − 207 � V I
�mx ∼ 8.4 − 8.02

��#�$ ����0�$7 ?��$��,+����� (�!�� @A� �$��� ���'������
��� )���#��� � ( �� ���� &!���!.��-� (��$��� ��)������ �����!.�
����. ( ��$  ��!� � ��������!.�� $�&,!�'������ ��,���� �(����2

����(���!.��7 �0 ��� K (�&��7  �� ������&�!���� E(x) �� $�&,�
!��,����7 � ������&�!���� �!������� ñ(x) ����&�!����� /,$�$�7
�$�!��,&� #�����) �� ���(��)�&�� (�!� ��� ñm/no ∼ 7 · 10−27
� (��&�� �!������� �� ����0,����2 M�� ��&�(��1&����� � #��(��
$� ñN (t) %���2=*7 �� #�����$ (�&��7  �� (�&�!����) -��$���#
�!������� ���7 � $�#��$�!.��� �$�!��,&� -��$���# �� ���(��)��
&�� (�!� ��� ñN/no ∼ 1 ·10−22 ��$���$7  �� ����!./�� 0��,)����
(�!�� @A�7 ��# 1�7 #�# ( ������ 3467 ����&�!����� #��(������ ��
����0����) /,$�)2

� ������ 346 ( �!, �� 4�4 � ����$����$� �, #� Vo/VT = 15.9J
no

b/no = 5 · 10−3 &���!.�� ���!�&�(�!��. ���,#�,�� (�!�� @A�2
@�!� ��#�0���7  �� (�!�� @A�7 ?��$��,+����� ( ��0,!.���� ��0�
(���� �, #�(�� ��,���� �(����7 �$��� &�(�!.�� �!�1�,+ ���,#�,�
�,2 ��� ��&��1�� �&�� 0�)(� ����)  ����'7 �#�,1����� �� ?�0��
(�� �!��#���� ���)���� ��#�$ �!��$2 O&�� ��#1� ���&����&�� 9 ��
?��� ���#�� ��#� �&����&��-� ������&�!����  ����' �,����(,+�
&�!-�1�(,��� $�&!���� ����!�(�+����� �-,��#�  ����'2 ����(�
��� �-,���# &(�1���� �� ?�0�(�� �!��#���� �� ������7 �!�0#��
# '����, ��!���� 0�)(��� %&�, �����'��!.��� �$� (�!��*2 M���
$, �-,��#, ����(����(,�� ����(��� ��# �� ?,�#'�� ������&�!����
"!�#�����( �, #� fb(V )2 
(�1���� �-,��#�( �� ?�0�(�� �!��#����
����&�!��� #�!������ � �����&�$ ∼ TB � �-���+�,+ #�!������
�$�!��,&� (�!�� EI(t)7 � #�!������ EI(t) ���(�&�� # ?��$����
(���+ ���)���� ��#�-� �!�� ( ������ ����������� (�!��2

� ��������� ������ &���!.��-� ���!�&�(���� ���,#�,�� (�!�
�� @A� �� ���(�&�!��.2 �&��#�7 �� (�0�(��� ���$�����7  �� ���
�$��� ��#�� 1� )���#���7 #�# ( �!, �� 4�4 3462 
����(���!.��7 �0
���28 (�&��7  �� ( �� ���� &!���!.��-� (��$��� ��)����+��� #��
!������ �$�!��,&� (�!�� EI(t) � �����&�$ ∼ TB 7 � �� ?,�#'��

H



������&�!���� fb(V ) %���2B*  ��#� (�&�!�� ��#7 ����(����(,+���
����(��$, �-,��#,2 � ������ 346 ��#�0���7  �� �#�����. V�7 �����
(����(,+��� $�#��$,$, ��#� fb(V )7 ( ��0��� $�$���� (��$���
( �� ���� ∼ TB #�!��!���� ��������!.�� ?�0�(�� �#������ (�!�
�� � ��0�� ���!.�� ��!� ����� �� ��� (V� − V�) ≤ ±(0.5 − 1.3)VT 2
��#  �� �� $�#��$�!.��� � $���$�!.��� �#������ V max

� � V min
�

( �� ���� TB $�1�� �'����. ?�0�(,+ �#�����. (�!�� @A� 9
V� ∼ V min

� +(V max
� −V min

� )/22 � ��������� ������ $�$���� (�(�&�
fb(V ) �� ���(�0�(�!��. # TB � V max

� 7 V min
� ���!��. ( �!, �����

��������!.�� ∼ TB $�$����7 �� ( ��!./�$ �����(�!� (��$���2 �
�!, �� 5�4 ( T/Toe ∼ 200−500 ��#�� �'��#� &��� ?�0�(,+ �#�����.
V�/VT ∼ 29.1 − 29.42

� �!, �� 5�8 � no
b/no = 3 · 10−3 ���(�� $�#��$,$ #��(��

EI(t) &����-����� ( tImax/Toe = 9.37 ��� "��$ EI
max = 33.1J

V I
�max/VT = 10.33J TB/Toe = 6.2J WE = 0.36W o

e = 0.12W o
b J ∆We =

0.40W o
e = 0.13W o

b J ∆Wb = 0.77W o
e = 0.25W o

b 2
� �!, �� 5�5 � no

b/no = 4 ·10−3J tImax/Toe = 8.8J ��� "��$ EI
max =

39.7J V I
�max/VT = 11.32JTB/Toe = 5.6J WE = 0.52W o

e = 0.13W o
b J

∆We = 0.59W o
e = 0.14W o

b J ∆Wb = 1.12W o
e = 0.27W o

b 2
� �!, ��) 5�8 � 5�5 ( t > tImax )���#��� ��0(���� ( �� �!�

�,����(���� �� ��!� ����� �� �!, �� 5�42 
����(���!.��7 #��(��
W (t) %��� H74H*7 EI(t) %���2L74L*7 ?�0�(�� �!��#���� "!�#�����(
%���245785*7 ?,�#'�� ������&�!���� �� �#������ %���24=78=*7 ����
���&�!���� E(x)7 ñb(x) %���24B78B* &� t/Toe ∼ 350 ( �!, �� 5�8 � &�
t/Toe ∼ 200 ( �!, �� 5�5 �$�+� ��� 1� )���#���7  �� � ( �!, �� 5�42
M�� ��#�0�(���7  �� �� "��� ���&�� ��0(���� �, #�(�� ��,���� ��
(���� ���(�&�� # ?��$���(���+ (�!�� @A�2 �$�!��,&� (�!��
@A� ( "��) �!, ��) ���#�!.#� ��!./�7  �$ ( �!, �� 5�42

� �!, �� 5�8 ( t/Toe ∼ 200 − 350 ���&��� �$�!��,&�

EI
�� ∼ 20.8 − 19.8J V I

� ��/VT ∼ 8.2 − 8.02 <�#��$�!.��� �� �-����

+��� EI(t) �$�!��,&� EI
mx ∼ 25.0 − 24.6J V I

� ��/VT ∼ 9.0 − 8.9J
�'��#� ?�0�(�� �#������ �� V� ��#� fb(V ) &��� V I

�/VT ∼ 29.22
� �!, �� 5�5 ( t/Toe ∼ 100 − 200 EI

�� ∼ 25.6 − 25.0J V I
� ��/VT ∼

9.1 − 9.02 EI
mx ∼ 31.0 − 30.6J V I

� ��/VT ∼ 10.0 − 9.9J V I
�/VT ∼ 30.12

L




�!.���/�� ��0(���� (�!�� @A� ( �!, ��) 5�87 5�5 #��&���!.�
�� ��!� ����� �� �!, �� 5�42 
����(���!.��7 �� #��(�$ EN (t)
%���24G78G*7 ñN(t) %���244784* (�&��7  �� ,1� ( t/Toe > 100 − 150
�� ���+� ����� (�&�!����� -��$���#� EN � ñN 2 ����$��$7  ��
( �!, �� 5�4 (�&�!����) -��$���# ��� &� t/Toe ∼ 600 %��� 57=*2 :�
��� 4B78B (�&��7  �� ����, -��$���# EN � ñN ����(����(,�� $�&,�
!�'�� ��!� E(x) � ���(!���� (��&�� �!�������7 � ( &�!.���/�$ %(
�!, �� 5�8 ( t/Toe > 3507 ( �!, �� 5�5 ( t/Toe > 200* ������� ����
(��&�� � #��'�����'�� ( ��) "!�#��� ��#�-� ��!�2 M�� �&��0�� ��
��#�0�(���7  �� ��0(�(����� $�&,!�'������ ��,���� �(���. � #�!�
!���2 :��#�!.#, ����!!����� ��,���� �(���. ( �!, ��) 5�8 � 5�5
���7 ��� � �� �!.��� $�&,!�'�� (�!�� -��$���#�$������!!���$�7
#������ $�-!� �� ���!,1��. 0����(#�� $�&,!�'������ ��,���� ��
(���� ��&���� �!, ��$ ����$�������$ ( ������) 387562 ��#�$ ���
��0�$7 (�0�,1&�+����� ��,���� �(���. �(!����� $�&,!�'������
��,���� �(���.+ �����(���� (�!�� @A�2

D����(#�� &!� ��0(���� $�&,!�'������ ��,���� �(���� ( ����
�$����(��$�) �!, ��)7 ���(�&�$�$,7 �(!�+��� /,$�(�� (�0$,���
��� �!������� �!�0$�2 
� �� �!� $�&,!�'������ ��,���� �(����
( t/Toe < 100− 150 ( �!, ��) 5�8 � 5�5 "�� /,$� ���#�� ��#� �&��
��#�(� � �$�+� $�#��$�!.��� ,��(��. ñm/no ≤ 4 ·10−22 ��#�� 1�
,��(��. �$�+� /,$� ( t/Toe < 100 − 150 � ( �!, �� 5�42 � t/Toe ∼
500 ( �!, �� 5�4 /,$� &����-�+� ,��(�� ñm/no ≤ 7 · 10−22 �&��#�
$�&,!�'������ ��,���� �(���. ( �!, �� 5�4 � no

b/no = 2, 5 · 10−3

�� ��0(�(�����2 �� ��0(�(����� $�&,!�'������ ��,���� �(���. � (
�!, �� � no

b/no = 2, 0 · 10−3 %( ��������� ������ �� ������*2
��#�$ ����0�$7 ( �!, ��) � no

b/no ≤ 2, 5 · 10−3 $�&,!�'������
��,���� �(���� ���7 � ( �!, ��) 5�87 5�5 � no

b/no ≥ 3, 0 · 10−3 9 ���.7
��#  �� �!, �� 5�4 � 5�8 ��0(�!�+� ����&�!��. -����', ,���� ��
(���� (�!�� @A� ��������!.�� $�&,!�'������ ��,���� �(����2

��# ��!� ��#�0��� (�/�7 ?�0�(�� �#������ (�!�� @A� ( �!,�
 ��) 5�4 � 5�8 ���#�� ��#� �&���#�(� %V I

�/VT ∼ 29*7 ��#  �� ����(�
��� ��0!� �� ( "��) �!, ��) ����&�!����� �$�!��,&�� (�!�� @A�2
���(��$ ���&��� � $�#��$�!.��� �� �-���+��� EI(t) �$�!��,&�
(�!�� @A� � ����(����(,+��� �!������� "���-�� ( �!, ��) 5�4 �

4G



5�8 ( �&���#�(�$ �����(�!� (��$��� t/Toe ∼ 200 − 3507 ( #�����$
( ����) �!, ��) (�!�� @A� ,1� ,�����(�!��.7 � $�&,!�'������
��,���� �(���. ( �!, �� 5�8 ��!.#� �� �������2

� �!, �� 5�4

EI
�� ∼ 18.3 − 17.5J (EI

��)
2/8πnoT ∼ 0.11 − 0.102

EI
mx ∼ 22.0 − 21.0J (EI

mx)2/8πnoT ∼ 0.15 − 0.142

� �!, �� 5�8

EI
�� ∼ 20.8 − 19.8J (EI

��)2/8πnoT ∼ 0.14 − 0.132
EI

mx ∼ 25.0 − 24.6J (EI
mx)2/8πnoT ∼ 0.20 − 0.192

��#�$ ����0�$7 ,�!�(�� %-����'�7 ����-* $�&,!�'������ ��,�����
 �(���� (�!�� @A� � λ/rd = 2007 ?��$��,+����� ��� �, #�(��
��,���� �(����7 �� ���&��� �$�!��,&�
(EI

��)2/8πnoT ≥ 0.142
�� $�#��$�!.��� �$�!��,&� EI(t)
(EI

mx)2/8πnoT ≥ 0.202

� ,�!�(�� ,���� �(���� (�!�� @A� ��������!.�� $�&,!�'����
��� ��,���� �(���� �� ���&��� �$�!��,&�
(EI

��)
2/8πnoT ≤ 0.112

�� $�#��$�!.��� �$�!��,&�
(EI

mx)2/8πnoT ≤ 0.152

��$���$7  �� ( ,���� �(�� (�!�� @A� ( �!, �� 5�4 �!������.
"���-�� (EI

mx)2/8πnoT ∼ 0.15 − 0.14 � (EI
��)

2/8πnoT ∼ 0.11 − 0.10
$��-� ��!./�7  �$ (krd)2 = 9.87·10−4 � krd = 3.14·10−2 %k = 2π/λ*2

����$����$ ��0(���� $�&,!�'������ ��,���� �(����
( �!, ��) 5�8 � 5�52 :� #��(�$ E(x) %���24B78B* (�&��7  �� $�#���
$�!.��� #��'�����'�� ��!� ( "��) �!, ��) &����-����� ( ��0���
$�$���� (��$��� t = tmax2 :�� "��$ $�#��$�!.��� (�!� ��� ��!�
E(x) Emax7 � �!������. �!�0$� (� (��&��� n/no = 1 − ñ/no2

� �!, �� 5�8 tmax/Toe = 378.3J Emax = 63.4J ñ/no = 0.33J
n/no = 0.67J (Emax)2/8πnoT = 1.28J (Emax)2/8πnT = 1.922

� �!, �� 5�5 tmax/Toe = 218.2J Emax = 74.8J ñ/no = 0.30J
n/no = 0.70J (Emax)2/8πnoT = 1.78J (Emax)2/8πnT = 2.552
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:� #��(�$ ���24G78G (�&��7  �� ( t ≤ tmax �� ���+� ������
����� -��$���#� ����(��� (�!��2 :� ?�0�(�$ �!��#����$ "!�#�
�����( %���245785* (�&��7  �� ( t ≤ tmax ���(!�+��� E)(����E
,�#������) "!�#�����(2 M�� ��#�0�(���7  �� -��$���#� $�&,!�'��
����� ��,���� �(���� � V N

� > 0 0�)(���(�+� "!�#����� �!�0$�2
:��(!���� E)(����(E,�#������) "!�#�����( ( ��!���� �#�������
V < 0 ��#�0�(���7  �� �,����(���,+ ��!. �-���� #��(����� ����(�
��� (�!�� � -��$���# �� (�0$,����� �!�������7 #������ ���(�&��
# -�����'�� ��!�� #����#�(�!��(�) -��$���# � �������) (�!� �
��$���$� N = Ne ± βNi7 β = 1, 2, 3... 3K7H62 M�� ��,&�(���!.��7
��# #�# (�0$,����� �!������� ������ ������ ��� $�&,!�'������
��,���� �(���� %��� 4B78B*2

��# ��!� ��#�0��� ����� 3B67 ( ������ ��!����� 0�)(��� -��$��
��# $�&,!�'������ ��,���� �(���� � #��(����� ��0(�(����� ��!.�
��� ���)���� ��#�� ��,���� �(���. &(�1���� "!�#�����( �!�0$�2
:� ?,�#'��$ ������&�!���� "!�#�����( �!�0$� ( �!, ��) 5�8 � 5�
5 %���24>78>* (�&��7  �� "�� ��,���� �(���. ���(�&�� # ,�#�����+
0�$����-�  ��!� "!�#�����(2 � ��0,!.���� "���-�� "!�#��� ��#�-�
��!� ��-!������� "!�#�����$� �!�0$� � ��!� 0��,)��� %��� H74H*2

:� #��(�$ ñ(x) %��� 4B78B* (�&��7  �� �� ���&�� 0��,)����
��!� (��&��� �!������� ��� ��#������ (��$� ���&�!1�+� �����
� &����-�+� $�#��$�!.��� -!,���� ( t = tmin2 :�� "��$ (�0$,�
����� �!������� ñmin/no � $���$�!.��� �!������. (� (��&���)
nmin/no = 1 − ñmin/no2

� �!, �� 5�8 tmin/Toe = 392J ñmin/no = 0.53J nmin/no = 0.47J
� �!, �� 5�5 tmin/Toe = 230J ñmin/no = 0.58J nmin/no = 0.42J
:� ?�0�(�$ �!��#����$ ����( %���24K78K* (�&��7  �� (

t/Toe > 350 ( �!, �� 5�8 � ( t/Toe > 200 ( �!, �� 5�5 ���(!�����
)���#������ &!� $�&,!�'������ ��,���� �(���� (�0$,����� �#��
����� ����(2 � "�� 1� (��$� �� ����� ������ ����� "���-�� ����(
%���248788*2 :��!� 0��,)���� (�!�� ( t > tmin (��&��� �!�����
��� �)!���(�+��� � ��0(�(����� ������ �,��,!�������. � /���#�$
���#���$ ������0(,#�(�) (�!�2 :� ?�0�(�$ �!��#����$ ����( (�&�
��7  �� ��� "��$ �����)�&�� 0�)(�� � ,�#������ ����( "��$� (�!���
$� � ��0(�(����� ���)���� ��#�� ��,���� �(���. &(�1���� ����(2
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� ��0,!.���� "���-�� ����( &����-��� $�#��$�!.��) 0�� ����2
� �!, �� 5�8 ∆Wimax/W o

e = 1.12 · 10−2J ∆Wimax/W o
i = 0.33

%W o
i /W o

e = 3.34 · 10−2*J
� �!, �� 5�5 ∆Wimax/W o

e = 1.80 · 10−2J ∆Wimax/W o
i = 0.54

%W o
i /W o

e = 3.35 · 10−2*J

��0(���� ��!.��� ���)���� ��#�� ��,���� �(���� &(�1����
"!�#�����( �!�0$� ���(�&�� # ������$, 0��,)���+ ��!�2 �&��#�7
��!��-� 0��,)���� ��!� �� �����)�&��2 :� #��(�$ EI(t)
%���2L74L* (�&��7  �� ���!� ����(��-� 0��,)���� ���&��� �$�!��,�
&� (�!�� Ne = 1 ,�����(!�(����� �� ��#�����$ ���������$ ,��(��
�!� � ��. $�&!���� ,$��./�����2 M�� ��#�0�(���7  �� ?��$��,�
���� #(�0����'�������� (�!��2

� �!, �� 5�8 ( t/Toe ∼ 450 − 500 ���&��� �$�!��,&�

EI
�� ∼ 4J V I

� �� ∼ 3.6J $�#��$�!.��� �� �-���+��� EI(t) �$�!��,&�
EI

mx ∼ 6 − 5J V I
�mx/VT ∼ 4.4 − 4.02

� �!, �� 5�5 ( t/Toe ∼ 400 − 500 EI
�� ∼ 4J V I

� ��/VT ∼ 3.6J
EI

mx ∼ 5J V I
�mx/VT ∼ 4.02

:� ?,�#'��$ ������&�!���� fb(V ) %���24=78=* (�&��7  �� � ���
�!� 0��,)���� ( t > tmin �� ?,�#'��) fb(V ) ��)�������� ��#7 �(�&��
��!.��(,+��� � ��)������� �-,��#� 0�)(� ����)  ����'2 M�� ��&�
�(��1&�+� � #��(�� ñb(x) %���24B78B*7 �� #�����$ (�&��7  �� ����
���&�!���� �!������� F�"!�#�����( ��)������ (�& ��#�7 )��� � �
$��./�� $�#��$�!.��� �!������.+2 ��)������� �-,��#� 0�)(� ���
��)  ����' (�&�� � �� ������$  ����'�$ �� ?�0�(�� �!��#����
"!�#�����( %���245785*2

��(�#,�����. "��) ?�#��( ��#�0�(���7  �� ���!� $�&,!�'����
��� ��,���� �(����7 #�!!���� � 0��,)���� ��)�������� (�!�� @A�7
)��� �� �$�!��,&� ��!.�� ,$��./�����2

<������� � ?�0�(�� �#�����. (�!�� @A�2 
����(���!.��7
�'��#� ?�0�(�� �#������ �� V max

� 7 V min
� ��#� �� ?,�#'�� ����

���&�!���� fb(V ) ( ��0��� $�$���� (��$��� &��� ( �!, �� 5�8
V I
�/VT ∼ 24.87 ( �!, �� 5�5 V I

�/VT ∼ 23.92 ��#�$ ����0�$7 ?�0�(��

�#�����. (�!�� 0�$���� $��./�7  �$ V I
�/VT ∼ 29 ( "��) �!, ��)

&� �� �!� $�&,!�'������ ��,���� �(����2
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:��������#� (�!�� @A� � ,$��./���� �� ?�0�(�� �#������ ���
�!+&�!��. ����� ��� ���!�&�(���� (�!� @A� ( �!�0$� � (�0$,���
���$ �!������� 3L62 @�!� ���&���7  �� 0�$����� "??�#�
���!+&�����7 #�-&� (�0$,����� �!������� &������ �� (�!�#�
ñ/no > 0.2 − 0.32 � �!, ��) 5�87 5�5 ?�0�(�� �#�����. (�!�� @A�
Ne = 1 $������� ( t > tmax7 #�-&� (�0$,����� �!�������
ñ/no ≥ 0.32 ��#�$ ����0�$7 "�� �� 1� �(!����7  �� � ( ������ 3L62

�(�0����'�������� )���#��� �$��� �� ��!.#� (�!�� @A�
Ne = 12 :� #��(�$ EN (t) %���24G78G* (�&��7  �� ���!� 0��,)����
�$�!��,&� -��$���# (�)�&�� �� ��#������ ���$���� ����������
( ���&��$ ,��(��.2 ����� ��!� ��#�0���7  �� "�� �(�&���!.��(,�� �
?��$���(���� ( �!�0$� #(�0����'�������) ��!����� %�� ?�0�(��
�!��#����* ���)���� ��#�-� &(�1���� 34G62 ���!�0 &(�1���� �����
��)  ����'7 ������&�!���� ������)  ����' �� ?�0�(�� �!��#����
( ��0��� $�$���� (��$��� %���245785* ��#�0�(���7  �� ( �!, ��
�) 5�87 5�5 ��#1� ?��$��,+��� ��!���� ���)���� ��#�-� &(�1����
"!�#�����( �!�0$� ( ��!���� �#������� V > 0 � V < 02

:� $�#��$�!.��$ � $���$�!.��$ �#������$ ������)  ����'
$�1�� �'����. -����'� ���)���� ��#�) ��!�����;

1�����( V > 0� 1�����( V < 0�
V max

N /VT V min
N /VT V max

N /VT V min
N /VT

������ ��! 9.22 1.45 −1.09 −8.01
������ ��� 8.79 0.71 −1.59 −8.04

��&��7  �� ( �!, ��) 5�8 � 5�5 "�� ��!���� �� ������#�+���2
:� #��(�$ ���2H74H (�&��7  �� ���!� ����(��-� 0��,)���� ���

���� "���-�� �, #� � "���-�� "!�#�����( ���&�!1�+� � ��. $�&�
!���� �����7 )��� ,�����(!�(����� #(�0����'�������� (�!�� @A�
Ne = 1 � #(�0����'�������� ��!���� ���)���� ��#�-� &(�1����2
:�� "��$ ∆We ∼ ∆Wb2 � ������ 34G6 �&�!�� (�(�&7  �� �$�!��,&�
(�!�� @A� ��&&��1�(����� ���������� 0� � �� �����#� "���-��
�� ���&�!1�+��-��� E��0$�/�(����EF�"!�#�����( � �����. "����
-�� �� #��(����+7 � �$�!��,&� -��$���# ( ���)���� ��#�) ��!��
���) ��&&��1�(����� 0� � �� �����#� "���-�� �� #��(����� � ���
���. "���-�� �� 0��,)����7 #������ ���(�&�� # ����, ∆We2 ��#��
1� $�)���0$ (�0$�1�� ( �!, ��) 5�8 � 5�57 ���#�!.#, (�0$,�����

4=



�!������� � ( t > tmin ����+��� &������ �� ��!./�$� %��� 4B78B*7
��#  �� #��(����� 0�(�&�$� &�!1�� �-���. ��!.2

� ��������� ������ ��#�0���7  �� ��0(���� �, #�(�� ��,�����
 �(���� %�, �# �� �#�����.+ Vo/VT = 31.87 �!������.+ no

b/no =
(2 − 4) · 10−3 ( �����$� &!���� L/rd = 200* ( ���,���(�� ����!�
!����� ��,���� �(���� ���(�&�� # ?��$���(���+ (�!�� @A� �
&!���� (�!�� L/rd = 200 %krd = 3.14 · 10−2* � ?�0�(�� �#�����.+
V�/VT ∼ 292 :�� $�!�) �!�������) �, #� no

b/no ≤ 2.5 ·10−37 #�-&�
���&��� �$�!��,&� �?��$���(�(/���� (�!�� @A� EI

�� ≤ 18 %0&��.
� &�!�� E ���$���(��� �� mrd/eT

2
oe*7 (EI

��)2/(8πnoT ) ≤ 0.117 (�!��
,���� �(� ( �� ���� &!���!.��-� (��$���2 :�� ,(�!� ���� �!���
����� �, #� &� no

b/no ≥ 3 · 10−37 #�-&� ���&��� �$�!��,&� (�!��
@A� EI

�� ≥ 207 (EI
��)2/(8πnoT ) ≥ 0.147 (�!�� �����(���� ��,���� ��

(�� ��������!.�� $�&,!�'������ ��,���� �(����2 ��#�$ ����0�$7
"�� ����$���� $�1�� � ����. -����'�� %����-�$* ,���� �(����
(�!�� @A�2

�$�!��,&� ?��$��,+����� ��� �, #�(�� ��,���� �(���� (�!�
�� @A� ���$�&,!���(���2 :�"��$, �$��� �$��! �'����. -����',
,���� �(���� �� EI

mx �$�#��$�!.��� �� �-���+��� EI(t) �$�!��,�
&� (�!��; (�!�� ,���� �(� ��!� EI

mx ≤ 227 (EI
��)2/(8πnoT ) ≤ 0.15J

(�!�� ��,���� �(� ��!� EI
mx ≥ 257 (EI

��)2/(8πnoT ) ≥ 0.202 ��$��
��$7  �� �!������. "���-�� ( ,���� �(�� (�!�� @A� ( �!, �� 5�
4 (EI

mx)2/(8πnoT ) � (EI
��)2/(8πnoT ) $��-� ��!./�7  �$ (krd)2 =

9.87 · 10−4 � ��!./�7  �$ krd = 3.14 · 10−22
����� �(�� (�!�� @A� ( ���,���(�� ����!!����� ��,���� ��

(���� ���!+&�!��. ( �!, �� 4�4 ( ������ 3467 -&� ���!�&�(�!��.
��,���� �(���. �, #� � ����$����$� Vo/VT = 15.9J no

b/no = 5 ·
10−3( �����$� � &!���� L/rd = 1002 @�!� ���&���7  �� ��0(����
�, #�(�� ��,���� �(���� ���(�&�� # ?��$���(���+ (�!�� @A� �
λ/rd = 100 % krd = 6.28 · 10−2* � V�/VT ∼ 14.62 �$�!��,&� �?��$��
��(�(/���� (�!�� @A� ,&�(!��(����� ,�!�(�+ ,���� �(����7 ����
&����$, ( ��������� ������2 
����(���!.�� ( �!, �� 4�4 ( t/Toe ∼
200−600 EI

�� ∼ 14.2−13.5J (EI
��)2/(8πnoT ) ∼ (6.4−5.8)·10−2 < 0.147

4>



EI
mx ∼ 16.5 − 15J (EI

mx)2/(8πnoT ) ∼ (8.7 − 7.2) · 10−2 < 0.202 ��$��
��$7  �� ( �!, �� 4�47 ��# 1�7 #�# ( �!, �� 5�47 �!������. "���-��
( ,���� �(�� (�!�� @A� (EI

mx)2/(8πnoT ) � (EI
��)2/(8πnoT ) $��-�

��!./�7  �$ (krd)2 = 3.95 · 10−3 � ���(��$� � krd = 6.28 · 10−22
��$���$ ��#1�7  �� !��-$+��(�#�� (�!�� � �!�0#�$� # (�!��

@A� �!, �� 4�4 346 ����$����$� %λ/rd = 100J V�/VT = 16J Eo ∼
11−18J (EI

o )2/(8πnoT ) ∼ (4−10) ·10−2 * ��,���� �(� ��������!.��
$�&,!�'������ ��,���� �(���� 34462

����� ���!�&�(�!��. �!, ��7 #�-&� (�!�� @A� 0�&�(�!��. � ���
$�-� �� �!� ( ���,���(�� �, #� "!�#�����( 34874562 @�!� ���&���7
 �� ( ���,���(�� ����!!����� ��,���� �(���� ( ��#�����) �!, ��
�) (�!�� @A� ,���� �(�7 ( ��#�����) ��,���� �(� ��������!.��
$�&,!�'������ ��,���� �(����2 ����� �(�� (�!�� @A� ���!+&��
!��. ( �!, ��)7 #�-&� (���!���� ,�!�(�� ,���� �(����7 ���&���
��� ( ��������� ������ E2

o/(8πnoT ) ≤ 0.11(0.15); ( �!, �� 4�8�
�0 ������ 34867 -&� 0�&��� (�!�� @A� � ����$����$� λ/rd = 100J
V�/VT = 15.2J Eo ∼ 15.6J (EI

o )2/(8πnoT ) = 7.8 · 10−2 < 0.11(0.15)7
� ( �!, �� 8 �0 ������ 34567 -&� 0�&��� (�!�� @A� � λ/rd = 2007
V�/VT = 28.1J Eo ∼ 13.6J (EI

o )2/(8πnoT ) = 5.9 · 10−2 < 0.11(0.15)2
��,���� �(�� (�!�� @A� ���!+&�!��. ( �!, ��)7 #�-&� (���!����
,�!�(�� ��,���� �(���� (EI

o )2/(8πnoT ) > 0.14(0.20)2 ��# ( �!, �� B
�0 ������ 3456 (�!�� @A� � ����$����$� λ/rd = 2007 V�/VT = 30.1J
Eo = 30J (EI

o )2/(8πnoT ) = 0, 29 > 0.14(0.20) ��,���� �(� �������
��!.�� (�0�,1&���� $�&,!�'������ ��,���� �(����2

��0(���� $�&,!�'������ ��,���� �(���� (�!�� @A� ( �!, ��
�) ����$�������) ( ��������� ������ � ����� ���(�&�� # (�0�,1�
&���+ /���#�-� ���#��� -��$���#7 ��0(���+ #��(����� (�!�� �
-��$���# �� (�0$,����� �!�������7 ��0(���+ ��!.��� ���)���� ��
�#�� ��,���� �(���� "!�#�����( �!�0$� ( ������ ��!����� 0�)(���
-��$���# � V N

� > 0 � V N
� < 0 � # ��-!�����+ "���-�� ��!� "!�#�

�����$� �!�0$� ��� ��0(���� ��!.��� ���)���� ��#�� ��,���� ��
(����2

� �!, ��) (�!� @A� � ����$����$�7 �!�0#�$� # -����'� ,�����
 �(����7 ����$�������) ( ��������� ������7 (�!�� @A� ��)�����
���� � ���!� $�&,!�'������ ��,���� �(���� � 0��,)����2 :���$���

4B



�� (�!�� ��� "��$ 0�$���� $���+���2 I�0�(�� �#�����. ,$��./��
���� &� (�!� ��� V�/VT = 24−25 ��� ��0(���� (�0$,����� �!���
����� %��&����� "??�#� �0, �!�� ����� 3L6*7 � �$�!��,&� ,$��.�
/����� ��� 0��,)����2 �$�!��,&� ,�����(�(/���� ���!� 0��,)��
��� (�!�� @A� ,&�(!��(����� ,�!�(�+ ,���� �(����; EI

�� ∼ 4J
(EI

��)2/(8πnoT ) ∼ 5 · 10−3 << 0.117 EI
mx ∼ 5 − 6J (EI

mx)2/(8πnoT ) ∼
(4 − 4.4) · 10−3 << 0.152

������ ����	
��	�

346 ���� ������ ��	� 
��
��������� :������� �OI LH�5B7 ��(��
������#7 4LLH2

386 ���� ������ ��	� 
��
��������� :�������� �OI LH�5K7 LH�
5H7 ��(�������#7 4LLH2

356 ���� ������ ��	� 
��
��������� :�������� �OI LH�KL7 LH�HG
��(�������#7 4LLH2

3=6 �������������� ��������
���� ��
������
��� ���� �!����
���� 
��
���� P �M�I B57 HK=7 4LK82

3>6 ���������� ��	�
��
��������� 
���"�#

�� P :��������
�OI Q L>�857 Q L>�8=7 ��(�������#7 4LL>2

3B6 $�%�&'()*+,-./01� 2�3�415/().-,� P RSTU2 VWXX 448Y7 55G7 4LH>2

3K6 3�6�617� 8�9�:-,� ;�4�<17=/,� P RSTU2 Z[\]^U 4B7 4LBK7 4LK52

3H6 $�%�&'()*+,-./01� 2�3�415/().-,� P RSTU]�_ `�a]bX_ 8=7 >BB7
4LH42

3L6 ��	�
��
��������� 
���"�#

�� :�������� �OI Q L=�=H7
Q L=�=L7 Q L=�>G7 Q L=�>47 ��(�������#7 4LL=2

34G6 ��	� 
��
��������� ��>� ?�����2 :������� �OI 8GGG�B7 8GGG�
>H7 ��(�������#7 8GGG2

3446 ��	�
��
��������� @�A���������� I�0�#� �!�0$� K7 5H57
4LH4J2 :������� �OI KH�KB7 ��(�������#7 4LKH2

3486 ���������� ��	�
��
��������� P :������� �OI QLB�5G7 ���
(�������#7 4LLB2

3456 ���������� ��	�
��
��������� P :������� �OI QLK�547 ���
(�������#7 4LLK2
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t / Toe = 150.

fo max= 37800.,  fe max= 34946.,  fb max=  2027.fo max= 37800.,  fe max= 34946.,  fb max=  2027.fo max= 37800.,  fe max= 34946.,  fb max=  2027.
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b = 4.34J no
b/no = 3.0 · 10−32

8L



t / Toe = 350.

x / rd

V
 / 

V
T

 i

-15

-10

-5

0

5

10

15

0 20 40 60 80 100 120 140 160 180 200

t / Toe = 400.

x / rd

V
 / 

V
T

 i

-15

-10

-5

0

5

10

15

0 20 40 60 80 100 120 140 160 180 200

t / Toe = 450.

x / rd

V
 / 

V
T

 i

-15

-10

-5

0

5

10

15

0 20 40 60 80 100 120 140 160 180 200

t / Toe = 500.

x / rd

V
 / 

V
T

 i

-15

-10

-5

0

5

10

15

0 20 40 60 80 100 120 140 160 180 200

���24K; I�0�(�� �!��#���� ����(2 �!, �� 5�82

5G



t / Toe

W
 / 

W
eo

0

0.2

0.4

0.6

0.8

1

0 100 200 300 400 500

���24H; D�(���$���. �� (��$��� "���-�� "!�#��� ��
�#�-� ��!� WE7 "���-�� "!�#�����( �!�0$� �We =
We − W o

e � �����. "���-�� "!�#�����( �, #�
�Wb = −(Wb − W o

b )2 �!, �� 5�52

t / Toe

E
N

0

5

10

15

20

25

30

35

40

0 100 200 300 400 500

���24L; D�(���$���. �� (��$��� �$�!��,&� (�!�� Ne = 1 � -��$��
��# Ne = 2 ÷ 10 2 �!, �� 5�52

54



a                        t / Toe

E
N

0

2

4

6

8

10

12

0 100 200 300 400 500

b                        t / Toe

E
N

0

2

4

6

8

10

0 100 200 300 400 500

c                        t / Toe

E
N

0

1

2

3

4

5

6

7

8

0 100 200 300 400 500

d                        t / Toe

E
N

0

1

2

3

4

5

6

7

8

0 100 200 300 400 500

���28G; D�(���$���. �� (��$��� �$�!��,&� -��$���# Ne = 2 ÷ 52
�!, �� 5�52

58



t/Toe

n~
N
/ n

o

0

0.02

0.04

0.06

0.08

0.1

0 100 200 300 400 500

���284; D�(���$���. �� (��$��� �$�!��,&� -��$���# �!�������
����( Ni = 1 ÷ 102 �!, �� 5�52

t / Toe

∆W
i /

 W
eo

0

0.002

0.004

0.006

0.008

0.01

0.012

0.014

0.016

0.018

0 100 200 300 400 500

���2 88; D�(���$���. �� (��$��� "���-�� ����( ∆Wi = Wi − W o
i 2

�!, �� 5�52

55



t / Toe = 155.

x / rd

V
 / 

V
T

–›Vo

-10

0

10

20

30

40

50

0 20 40 60 80 100 120 140 160 180 200

t / Toe = 205.

x / rd

V
 / 

V
T

–›Vo

-10

0

10

20

30

40

50

0 20 40 60 80 100 120 140 160 180 200

t / Toe = 250.

x / rd

V
 / 

V
T

–›Vo

-10

0

10

20

30

40

50

0 20 40 60 80 100 120 140 160 180 200

t / Toe = 500.

x / rd

V
 / 

V
T

–›Vo

-10

0

10

20

30

40

50

0 20 40 60 80 100 120 140 160 180 200

���285; I�0�(�� �!��#���� "!�#�����(2 �!, �� 5�52

5=



t / Toe = 150.

fo max= 37800.,  fe max= 34046.,  fb max=  2199.fo max= 37800.,  fe max= 34046.,  fb max=  2199.fo max= 37800.,  fe max= 34046.,  fb max=  2199.

V / VT

f e,
b(

V
) 

/ f
m

ax

 ↑0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

-10 0 10 20 30 40

t / Toe = 200.

fo max= 37800.,  fe max= 32506.,  fb max=  2101.fo max= 37800.,  fe max= 32506.,  fb max=  2101.fo max= 37800.,  fe max= 32506.,  fb max=  2101.

V / VT

f e,
b(

V
) 

/ f
m

ax

 ↑0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

-10 0 10 20 30 40

t / Toe = 250.

fo max= 37800.,  fe max= 35305.,  fb max=  2833.fo max= 37800.,  fe max= 35305.,  fb max=  2833.fo max= 37800.,  fe max= 35305.,  fb max=  2833.

V / VT

f e,
b(

V
) 

/ f
m

ax

 ↑0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

-10 0 10 20 30 40

t / Toe = 500.

fo max= 37800.,  fe max= 34422.,  fb max=  1971.fo max= 37800.,  fe max= 34422.,  fb max=  1971.fo max= 37800.,  fe max= 34422.,  fb max=  1971.

V / VT

f e,
b(

V
) 

/ f
m

ax

 ↑0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

-10 0 10 20 30 40

���28=; I,�#'�� ������&�!���� �� �#������$ "!�#�����( �!�0$� �
�, #�2 ����!#�� ��$� ��� �� �!.��� �#�����. �, #� Vo/VT = 31.82
:,�#��� 9 �� �!.��� ?,�#'�� ������&�!����2 �!, �� 5�52

5>



t / Toe = 150.

fo max= 37800.,  fe max= 34046.,  fb max=  2199.fo max= 37800.,  fe max= 34046.,  fb max=  2199.fo max= 37800.,  fe max= 34046.,  fb max=  2199.

V / VT

f e,
b(

V
) 

/ f
m

ax

 ↑10
-4

10
-3

10
-2

10
-1

1

-10 0 10 20 30 40

t / Toe = 200.

fo max= 37800.,  fe max= 32506.,  fb max=  2101.fo max= 37800.,  fe max= 32506.,  fb max=  2101.fo max= 37800.,  fe max= 32506.,  fb max=  2101.

V / VT

f e,
b(

V
) 

/ f
m

ax

 ↑10
-4

10
-3

10
-2

10
-1

1

-10 0 10 20 30 40

t / Toe = 250.

fo max= 37800.,  fe max= 35305.,  fb max=  2833.fo max= 37800.,  fe max= 35305.,  fb max=  2833.fo max= 37800.,  fe max= 35305.,  fb max=  2833.

V / VT

f e,
b(

V
) 

/ f
m

ax

 ↑10
-4

10
-3

10
-2

10
-1

1

-10 0 10 20 30 40

t / Toe = 500.

fo max= 37800.,  fe max= 34422.,  fb max=  1971.fo max= 37800.,  fe max= 34422.,  fb max=  1971.fo max= 37800.,  fe max= 34422.,  fb max=  1971.

V / VT

f e,
b(

V
) 

/ f
m

ax

 ↑10
-4

10
-3

10
-2

10
-1

1

-10 0 10 20 30 40

���28>; I,�#'�� ������&�!���� �� �#������$ "!�#�����( �!�0$�
� �, #� %!�-���?$� ��#�� $��/���*2 ����!#�� ��$� ��� �� �!.�
��� �#�����. �, #� Vo/VT = 31.82 :,�#��� 9 �� �!.��� ?,�#'��
������&�!����2 �!, �� 5�52

5B



E
 / 

E
m

t/Toe=154. t/Toe=202. t/Toe=218.2 t/Toe=230. t/Toe=500.

n~

i /
 n∼ im

n~

b 
/ n

~

bm

x / rd

-1

0

1

-1

0

1

-1

0

1

0 100 200 0 100 200 0 100 200 0 100 200 0 100 200

���28B; ������&�!���� ��!� E(x)7 (�0$,����� �!������� �!�0$�
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